Algebraic Fractions 2
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Simplify each of these.
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6 Show that each algebraic fraction simplifies to the given expression.

o

.

X+ 1 +x+2=3
4 7
b —_

X-2 x+1 3
QL_ 4 =2
A+l x4+2
2 6
d -

-1 x+1 =il
e&_ 4 =1
2x-173x-1

simplifies to
simplifies to
simplifies to
simplifies to

simplifies to

32 +2x-3=0
3¢ -14x+4=0

8 +31x+2=0

22¢2 +21x-19 =

¥-x=0

4x 2y
3yxx
x—3x 5
15 2x -6
x-2 4
5 =
A’ X
3y " 2y
x=-3._5
15 -6
x-2 ., 4
12 " x-3
x X
4 "4
Ix+1 x-2
2 5
2x+3 . 6x+9
5 & 90
0



-
=
o
X
'w
<
N
=
N
p]

|

~
w
S
= N= \,“:a
X
-
U‘I,l e
N
-
=
|
w
1 |&

o % 15 26
2x+1x3x+1 = x2X+1 ko 4
g 9 4 3 i 2 xx_—i
x5 ,_3
I 710 " #-5
2
4e) X . X
z 3 A
4‘) ﬂ = 2_2’ - /g
3y ¥ K
4&.) X x <>c "'2) b > (x -2) — xl— 2
= s 2=y 10
4 f&) (Zx 4—') x CZ x(i) - éxl +3x #2204+ |
z 4 Y
- é,xz'f's-x»l-l
8
. -2 4
4L) ( 2 )7‘ s ZG(«-’Z) s <X -4
(> -3) ~=3 —
- -3
[
4¢) x-3 & _ =7y, i
| § 2?("6 )3’?' z(w
C’KSJbuofk
4L> Z_X % 3_'3 = 3%3
7 4 —’4
+ 2
4,4) 4'_‘3 X 3x - 12 2y - 2 <9
A 2y |3 3



an) %k @xed o 2xtex

1<
/
43) x5 ) < ; (=S < %
o i P x(=3)
|
- 2 3¢

3
a %?+% b %?_% ° i;x%
I x 3x+1 x-2 P 3x+1 x-2
dT7Z e 2 * 5 2 5
WE1  x—2 N i R 1P i zx;3*611;9
3 5 10 x-3
p 22
RS
be) 32X 42 o W= Lx
4 a4 4 &£

Cless work LL) (€ G+

(L) Doz o Zmex oo 2=
&



VY
N
>
%
+*
=
|
N
N

5(39(4—:) - 2(>-2)

B T
e " 10
< }Sx4S ~2x + 4 . Rx 49
o i )
4 g Zx+3 6x+9 - 243 10
L) BT s 6>¢44

G Show that each algebraic fraction simplifies to the given expression.
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